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PART - III
senflglo /| MATHEMATICS

( &R wpmIb pridla eufdl / Tamil & English Version)

sTe ere] : 3.00 wenfl Cryb ] i [ Qs wHlbueamser : 90
Time Allowed : 3.00 Hours ] [Maximum Marks : 90

SiPleyengsst : (1) @argg elamsseEpn sfwursy udeaurdl o drargm ereTUgMTE
sflurisgs Qararereyb. ssliLdeld @GeapuldGUGer, <@ps
samarentiureriiL 2 Larguirss Qgfleilssab.

2) Beood ez smUY @olaa wLILEGCL TWHMUSHED,
SigECaTyPausHEn LwauBSs, Caiam®b. UL kg eUenTeauSEm (S
Quendled LweTIHSSe,LD. :

Instructions : (1), Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

u@&H - 1/ PART - 1
@iy : (i) emenss) eilamésEréEn eflanLwelsseab. 20x1=20
(i) Csr@ssrul@drer wrHm ele_safld Wsayb ghyemLw el enwg
CobQs 05815 GO Gren oflenulenanyb Geiggl eT(psayLb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

(6412 | e

1.

A={(x, y) : y=sinx, x e R} wpmd B={(x, y) : y=cosx, x e R} eraflen, ANB - :
(=) epiiysefldeme (<2, eraTanfle_hisT 2 mILIL|GET 2 GTaTear
(@) @Cr e emiy o édrerg (r) Sroreflss @Queors

If A={(x, y) : y=sinx, x € R} and B={(x, y) : y=cosx, x € R} then ANB contains :
(a) no element (b) infinitely many elements

(c) only one element -(d) cannot be determined

x+2] < 9 eraflad, x b Qe _Geuafl :
]

(=) (—, =7) () [-11, 7]
(&) (—=, =7T)U[11, =) (F) (=11, 7)
If [x+2| < 9, then x belongs to :

(@ (==, =7) ~(b)  [-11, 7]
() (=, =7)U[ll, =) d) (=1L, 7)

sin 18° -& WAL :

- 1-45 J5 -1
@) B @t e ()
The value of sin 18° is :
- ' 1—+5 S -1
@ Bl o B g 5B @ B
cos 150° - L]
-1 J3 - —3
(1) 5 (=) 5 @ 5 (m) =2
The value of cos 150° is :
-1 J3 —J3
@ 3 I © 5 @ 3
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4 gpa@eill LEIsEr o et g uaGsrengden Lsahisaldan eramanfléamns :

(=) 4 (=) 4! (@) 11 (rr) 22
Number of sides of a polygon having 44 diagonals is :

(a) 4 (b) 4! (c) 11 d) 22

1,2, 4,7, 11, ... eranp QT ppevmulen n peug 2 miliy :

(1) n3+3n2+2n (<) n3-3n2+3n '
n(n + D(n + 2) n2-n+2

(@) 3 ([T) —5'—

The n'" term of the sequence 1, 2, 4, 7, 11, ... is :

(a) n3+3n2+2n (b)) n3-3n2+3n
nn+ D(n + 2) n? —n+2

(c) 3 (d) V7 )

smiey 2 2.eLw GarlynE psld@mbg i@ QekEsss Carliga
berd 5 erafldd, &CaTIgam FoeTUm( :

(1) x—2y=+5 o () 2x—y=+5

(8) 2x-y=5 ' (F) x-2y—-5=0

The equation of the line with slope 2 and the length of ‘the perpendicular from
the origin equal to /5 is :

(a) x—2y=J§ . (D) 2x—y=\/§
() 2x-y=5 : (d x-2y-5=0

[ SmLiys / Turn over
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a; = 5(31 = 2j) wpmibd A=[a;lyy, erafled, A eramuigy :
1
2 ° 1 2 2
(@) -1 () |2 2 (@) |1 =t
) .
If a; = -2—(31 — 2j) and A:[aij]2x2 then A is :
1
ohe 14 :
(@ =1, B |22 (EhF- 2" =
2 2
0O a -b .
A=|-a 0 c| aen yefl&Carencuuden wHLiL :
b —¢c 0
(=1) —2abe (<2b) abe (@) o
0O a -b
The value of the determinant of A=|-a 0 c| is:
b —c 0
(a) —2abc (b) abc ) O

a—-b b-oc c-a Ay Caise:
(21) paTn&taTearn GenerTwimeg)

(21) D@ GeusLiTsar

(@) Qemgdsrear HeusLiisar

() @ seoT CleusL Taer

T e
C

.—)
The vectors a — b, b — ¢, a

are .

(a) parallel to each other

(b) unit vectors

(c) mutually perpendicular vectors
(d) coplanar vectors ‘

www.CBSEtips.in

)
N N =

N
N N =

() a?+b2+c2

(d)

a?+b2+c?
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-3 -

a + bl =60,

-

(<) 42 (<) 12

.-+ — - -
If la + bl =60, |a — bl =40 and

(a) 42 (b) 12

AL

A A
=i +2j+2k

—
a

- - :
b|=5 Cogib a whmbd b -6 @eLvuulL Gsrambd —

www.CBSEtips.in

a — bl =40 wHmWb b’=46 erafled |al -er gl :

(@) 22 () 32
g' = 46 then, ;‘ is :
(€ 22 (d) 32

- ™

6

crafled, @euellm eusLismer AQssHES LssHSMTES QaTarL WaECsTansd e

Uy

(a)% | &%f%

A

A A
i +2j + 2k,

ﬁ
If a

(@)

Al
—_
i

+|

_—)
bl = 5 and the angle between a and b is g then, the

area of the triangle formed by these two vectors as two sides, is :

7 15
(a) 2 (b) Y
i 1 — cos2x .
m ————— - Wy
x —>0 X
(1) 0
(&) V2
lim V1 — cos2x is -
x =0 X
(a) O
() 2

()

|
=2
|

(<) 1

() Qeunmier ergieyidene

(b) 1

(d) None of the above
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14,  lim S ~eit Wl
x - 0lan x i
1
(e) 1 (<o) e (@) o
(\-!“Y".\ - (\1 .
lim e iy :
v - 0tan x — x
) 1 b =
{a) ( ) € (C) 2
15 Ji-UOaSX] ' Yy
5. . log 5x] -en iy :
; 23 b (@) 5x
() 5 (<) %
— [log 5x] is
1 1
=y — 3
(@) = (b) 7 (e) Sx
[ 2L x<2 2oak, Fie) erénug ;
16, f{x)= 2x -1, x=2 ' 2
() O (<) 1

(&) 2

I flx) = {
(a) O
(c) 2

() e das Quprg

x+ 1, when x <2

, then f'(2) is :
2x — 1, when x 2z 2 S

(b) 1

(d) does not exist

www.CBSEtips.in

(FF) log 5x

(d) log Sx
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Jtanx 1x
sin 2x - wdlly
*

(=) Vtan x + C

(@) ;1;\/1:111 x + C

Vtanx
: dx s :
sin 2x

(a) <tanx + C

(c) %\/tanx + C

[52 cosx dx -eb Ly :

(<=1) x*sinx+2xcosx—2sinx+C

(@) —x?*sinx+2xcosx+2sinx+C

[ cosx dx is:

(a) x?sinx+2xcosx—2sinx+C

(c) —x*sinx+2xcosx+ 2sinx+C

(<21)

()

(d)

(rr)

(b)
(d)

2Vtan x + C
%«jtanx + C

2vtan x + C
—Llix./tanx + C

www.CBSEtips.in

| (<) x?sinx— 2xcosx— 2sinx+C

— x?2sinx— 2xcosx+ 2sinx+ C

x%sinx— 2xcosx— 2sinx+ C

— x2sinx—2xcosx+ 2sinx+ C

A wppb B Hdu Q@ Blspiflsar A C B wpmib P(B) # 0, erar @mindan
eauheuareudmier ergl Gouiwireng ?

_ P
(c21) P(A/B) = =5

(8) P(A/B) = P(A)

(<) P(A/B) < P(A)

(r)

P(A/B) > P(B)

If A and B are two events such that A C B and P(B) # 0, then which of the following

is correct ?

P(A)

@ P@/B) =g

(c) P(A/B) = P(A)

\

(b)

(d)

P(A/B) < P(A)

P(A/B) > P(B)

[ Hlmliys / Turn over
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20. A wpmd B e @ Hapsds@nse PA) = 7 P(A/B) =

1
rafled P(B) -a iy

(@)

W
wiN

1
(o) g (<21)

It is given that the events A and B are such that P(A) =

www.CBSEtips.in

(7F)

.
4

(d)

~ wppid PB/A) =

N | =

&
3

1
, P(A/B) = 5 and

B | =

P(B/A) = 2. Then P(B) is :
(b) (€ 3
UGS - 11/ PART - II
Gy @ aemeuGuenid 67 aﬁ]smrré;a;@éa@ e waeflGsa)b. alenr erar 30 -&&

Note : Answer any seven questions. Question No. 30 is Compulsory.

21.

22.

23.

24.

SLLmuwns 6llenL_wefl&Esa|b.

|x=9|<2 eremuemns x-g QUITNISS 5765 -

Solve |x—9|<2 for x.

cos60 +cos20 eramensd CLI(HESOTE CT(LHSIS.

Express cos66 +cos20 as a product.

sin 150° -&ot WLIL| Srams,

Find the value of sin 150°.

8! -an wliy srems.
51 x 21
Find the value of __ 8" .
51 x 21
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1 ; n =1 erefl
v -G L DI ay, = {2 ; n =2 ererfkv
a,.) +ta,, ; n>2

- 88 Qsran Qgrirapanpufer (PBA BITEH(E e MILILIEEDETE STEHTS.

Yot 8 ~ 3 . . .
Write the first 4 terms of the sequences whose nth term a, is given as :

1 if noe=1
an = 12 if n=2
l8pn-1 tapo if n>2

(1, 1) ereoip yearafl euilGw QFav&aniq gD wHmb Fmie 3 2 el w CrrEGam g6
FLOSTUTLOLE ST,

Find the equation of the line passing through the point (1, 1) with slope 3.

3 4 1
A=10 -1 2| eraflev |A] -em UL STeRTS.
3" =2.'6
3 4 1
Find [A|if A= |0 —1 2.
' 5 -2 6
- A A A

_) A A A - _)—_) . - -
a=i —2j + k wppib b= 3i —4j -2k eafleo a.b -er Wl sreawms.

- — - A A A - A A A
Find a.b when a=i —2j + k and b=3i —4j - 2k.

y=c+sinx+2 -8 x -@l QUINISE uemsui(s.

Differentiate y=e*+sinx+2 with respect to x.

cos3x - x -1 QurmsE AgrasuiLaib.

Integrate cos3x with respect to x.

[Q@an; / Turn over
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U@j@ - III / PART - 111

_é_:,@

. . A . : : eremr 40
@Oy @ stemeuGuend e NaTESE@HEG e wefldsab. elerm L T

sULmuors el wallssayb.

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. n(A)=10 wpmb n(ANB)=3 eraflé® n[(ANB)NA] -g &raiTs.
If n(A)=10 and n(ANB)=3 find n[(ANB)'NA].

. . 3x+1
32. uEd Weramaes A&salDd : T oy(; + 1)

j ) 3x +1
Resolve into partial fractions x=-2x+1

33. |x<1eramp LANIDE, (1+092/3 @ s prang 2 miiLse aiey ciflaiuBSH TWHS.
Expand (1 +x2/3 up to four terms for |q<1.

34. 3x+4y—12=0 wHmb 6x+8y+1=0 eranp GQewenr CaTHHEHES Qe G o e
FTEO5E SIS,
Find the distance between two parallel lines 3x+4y—12=0 and 6x+8y+1=0.

0 c b2 b2 + 02 ab ac
35. |c 0 a| =| ab c?+a® bc |eren Himeys.
b a 0 ac bc a? + b?
. 0 c bf b? +c* ° ab ac
Show that |c 0 a| = ab c? + a2 be
b a O

ac bc a2 + b2
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R S Y S Y s TR
36. 21 +3J Sk, 3i 4+ j -2k wpmid 6i -5j + 7k Suabhop Blena
CleuSLT&6TTaS Qs reasmL Heteflaar G Camliymwwb erats sl (Hs.

A A

. A
Show that the points whose position vectors are 2i + 3j — 5k, 31 + 3 ~ 2k and

- é 2
61 —5j + 7k are collinear.

37. y=e"" -z x -@i Quryss auansud ().

Differentiate y=eSin* with respect to x.

38. (2x-5) (36+4x4 -g x-mu QuIMsE CQsrasud®Hs.

Integrate (2x—35) (36 +4x) with respect to x.

39. P(A)=0.5, P(B)=0.8 wpmid P(B/A)=0.8 erafléd P(A/B) mé &rems.

If P(A)=0.5, P(B)=0.8 and P(B/A)=0.8, find P(A/B).

40. MATHEMATICS erénmp eurigenguded e arar erpsgisments LuaL@ss orssamar
QeucuCGeupran auflend LIHDEIEMET 2 (HEUTESQTLD ?

Find the distinct permutation of the letters of the word MATHEMATICS.

[ Hplys / Turn over
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L@ - IV / PART - IV

G&OOY : emenss amssEnd@n el waflésab. Ixo5eS
Note : Aunswer all the questions.
—x+4  ; —o<x<-3
x+4 ; —3<x<—2
41. (&) fx)={x?-x ;-2<x<l1
x—x2 ;1< x<7
0 ; HD @Lkisafld

erem euenyumIdsLLger —4, 1, —2,7,0 %ﬁumﬁ);ﬂ@f—e‘h LEHULSMETE STETS.
960608

(x2 — 6x + 5)
lim -aoT WELIeNUG TS,
(%)x—>3x3~8x+7 8

(a) Write the values of fat —4, 1, =2,7,0 if :

—x+4  if —e<x <3
x+4 if =8.< x <2

f(x)=<x2-—x if -2<x<1

x—x2  ifl1gx<T7

0 . otherwise

OR

im (x2 — 6x +5)
(b) Compute : A o Lo
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12 ;
0 IT_ . B 15 § . b 3 - -
y Y<y< 5 sinx = 17 Lhm cos Y= 13 erafléy cos(x—y)-er

i

(=) 0<x<

N

wHUGOUS sTams.
S0V

() y=e™" " aafler, (1+:x2)y" +(2x— 1)y =0 erenés &M_[s.

: 15 )
(a) If sinx = T and cos y=i—§, O<x< E', O<y=< g—,ﬁndthevalue of cos(x—y).

OR

(b) If y=e'® % show that (1+x2)y’'+(2x— 1)y =0.

(=) Epsaamieupflen UUsmens Srams.

M P, G) %P () 1C (i) %o ) Cg
S{6V60G)
2x — 3 <0 eremm FLETUTL L Hlenpe| Qb x-61 ADaTSS)

(%) -
WAL ILEE®ETLLD HTEHTS.
(a) Evaluate the following :
i Py (ii) ©Ps (iii) 10C4 (iv) 100C,, (v) S50,
OR

P ) . 2x -3
(b) Find all values of x that satisfies the 1nequa11ty TR <0

[ Sliys / Turn over
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44.

45.

i . 33 &
(1) x @ Coameuwrar oerefarmer Guflw erem erafled, Yy + 6 — Vx® + 3 &

. o 1
wdlienu Cerrmuions —5 ere Himies.
=

IIVE0G]

2x — 5
(x2 - 2x+5)

(<) -0 x -pU QUITES sl (Hs.

' - 1 .
(a) Prove that §/x3 ¥ &= §/x3 4+ 3 is approximately equal to ;‘2‘ when x 1s

sufficiently large.

OR

(b) Differentiate : 2x -5 with respect to x.
(x2 — 2x+5)

1 1 1
(@) | * ¥y 2z=(x-y) (-2 z-% agauws arye Cosmméeng L
2 y? P :

LueTLS Pnels
NN

(<) x log x -, x-gu1 Aurysg AgresuiBs.

-ae
(a) Prove that | X Y 2 = (x=y) (y-2) (z-x using factor theorem.
2 y2 22

OR

(b) Integrate x log x with respect to x.
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46. (=1) ABCD erenp prpsrsdé AC, BD -ar BEUIyETafsd E whmb F «ps @i
= ~%

-3 — -
AB + AD + CB + CD = 4EF eren Hmays.
S{60E0F)

(<) 10HIG '[_.____1 SR
sin‘x cos?x

(a) If ABCD is a quadrilateral and E and F are the midpoints of AC and BD

, ~% . ¥ . -
respectively, then prove that AB + AD + CB + CD = 4EF.

OR

(b)  Evaluate : J‘M‘_)—,L = dx

SIN~X COs*Xx

47. (=) @y Qemfibhsreauld Qupdyiad 1 wpmb 1l e @) cuenssar 2 crerer.
@uiihHirbd 1 Qpmfnsrenaulen 2 pusdula 40% gurflddng wmbd @uipdrd
11 e pusHullad 60% surfisdpsy Cuogn GupSrd 1 -ar epab 2.Husbdl
Qe L Qurmarsafle 4% Gapur@arargraa)d @uisdlnd I -6 epeatd
e pusd Qsiwiu L Qurgdrsaiia 5% Gapur@drargraand G)madlemer.
o husd Qevwiule Quropdasaldi@pg. swamidy epapuild
CaipQe®sstiulL gm Qurnmd Gapur@dagrs & mudlar, e ANIATN (01
Qupdmbd 11 -0 2 pusd Qsigsparar flapssay wrg ?

S0V

(<) V3x + y + 4 = 0 erenp Carlen & Qsigss ezl LIHHS.

{a) A factory has two machines I and 1. Machine I produces 40% of items of the
output and Machine Il produces 60% of the items. Further 4% of items
produced by Machine I are defective and 5% produced by Machine II are
defective. An item is drawn at random. If the drawn item is defective, find
the probability that it was produced by Machine IL

OR

(b) Rewrite J3x + y + 4 = O into normal form.

-00o0-
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